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Section S.1= futiciffecentiation The. lndelinlle. lntegral
4, SfEdb= §thdt= 2% 4c
6 §3e"dx = 3§ dx = Zer 4cC.
B SO snm - 3 L%t
2. [ (57— 25 + @Y = () = 2 5 e

| X2 L 3x—2 . 2
o, §EEETE g L (T vaoax)de s EXraxPgx i

20 [x(axn) dx = x (dxke dxt1) dx = [Ax3r Ay 2ex)dx
= xT4 L3+ LxtsC.

Ja. TW o £ix) has S/o,oa £1x)= 3x* +bx—2 3,«@,0%, goss
"H"”OUSJL (01 6) ; -F () = 5(3 =%+ GX"JZ) dx
= x?) + 3x'2—-‘2)<+c

f(0)= { =C , $0 $(X)=x3+ 3x2-aAx+ 6.

a4, minat x=1, may ot x=4. M

Toy £ (=YY = (*-Sx+4) =
| | 4
Then we adpst Hhis Jo make the siyn worL, MO min .
R?a,\\j we need 0= & (x-N{x-4) where ¥ s any negative
consfomt, Vsing k=1, ) -x*+Sx—4 5o
HNE g(——x7*ﬁ~$x—~4)dx
£ ()= "J§ xg*%xz-“(x |
(Us'!(\%_ C=0. Any value
fo-. € il work-)
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Seetion S - cmt

28  Iat years, valve is inereasing at a rate of VU dhllas paer year.
End an aszmsfm for the MVL {Jﬁ which Y will rmerease
dvring the next & YERrs.

Amt of increase = N (SY-V(o) vsing V)= Sviode
(notice. C's ol cancel Fom vis) and Wol\ .

/2 PUILY =TS0 . Find Plas).

34 Rlp)= /0035
Ci/g): O, “/ﬂ//"

P = Rﬁ.c/ P,;R/_C

D f— jo0 "“/2__0'!7/

f= S(loof"/z—o, #/;) Ci?g = ,?oaff/lwa,zfzf- K

/s

P(16)= SR0= 200 Vit — 0.2 (16)* +K = §60— §1. 2 +K
S540= F4¢.§ +K
288 = K

Plo)= dw g 7~0.242 -228.8

Pés

7 - .
)= K00 (5 )= 0. 2 (baS) ~225.§ Z0-13S ~RAE§ ::?t

646, 20
38 WM =02t7+ & Whe Wio)=2. Find h(29).

W)= Jo2t"3+4") de = 02 (2tT3)+ 2 4% 4

W)= 0,124 %+ 5 4% ¢e

hizds 3= O+0+C

W)z 012 73+ & 1% 4 5

hiaf)= 0.1z (3)5+ £ (2P +2 2 29./0 + 935307 +.2
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